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Answer all questions.

Questions 1, 2 and 3 require you to demonstrate knowledge and understanding of legal rules and
principles.

Question 4 requires you to apply legal rules and principles to the given scenario in order to present
a legal argument using appropriate legal terminology.

Question 5 requires you to analyse and evaluate legal rules, principles, concepts and issues.

4. Rebecca was driving along a busy street in Newport. As the traffic was moving quite slowly,
she was looking through her phone at her recent messages. She knocked the phone out of
her hands and reached across the car to try to find it. While she was distracted, she failed to
notice that Marie had stepped out onto a pedestrian crossing and Rebecca’s car hit Marie,
breaking her leg and running over the shopping she had just bought. Marie required surgery
and had to take five months off work because of her injuries. Her doctors are concerned
that she may need a further operation in future and that she may suffer ongoing pain. Her
shopping, which included several expensive gifts, was badly damaged.

Advise Marie as to whether Rebecca is liable in the law of negligence for her injuries. [18]
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Damages evaluated well and some reference to legal authority. 16 marks.



































Purpose of damages in the law of tort set out.

Good reference to key terms along with some
case law to support.

Logical structure.
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Good reference to key terms along with some case law to support. 
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Good summaries and use
of authority to support.
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A wide ranging answer.
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A wide ranging answer. 










5. Analyse and evaluate how an award of damages is assessed in the law of tort.  [18]
Indicative content

NOTE: The content is not prescriptive and candidates are not expected to mention all
the material mentioned below. Each answer will be assessed on its merits according
to the assessment grid and the indicative content. Examiners should seek to credit
any further admissible evidence offered by candidates.

Candidates are expected to demonstrate knowledge and understanding of the English
legal system and legal rules and principles relevant to primary and secondary victims
in tort. Candidates will offer an analysis and evaluation of primary and secondary
victims. In order to reach a judgement about these issues candidates will offer a
debate and come to a substantiated judgement regarding the differences between the
two.

The response might consider issues such as:

¢ A claimant who successfully proves his case in negligence will be entitled to a
remedy. Damages are one form of remedy.

¢ Damages aim to place the claimant, where possible, in the same position as if the
tort had never happened. Not always possible for serious, life changing injuries.

o Damages can be divided into general and special damages:

o Special damages — These comprise quantifiable financial losses up to the date
of trial and are assessed separately from other awards because the exact
amount to be claimed is known at the time of the trial. The major types of
damages are as follows:

* Loss of earnings.
» Medical Expenses.
+ Expenses to cover special facilities.

o General damages — This term covers all losses that are not capable of exact
guantification and they are further divided into pecuniary and non -pecuniary
damages.

* Pecuniary damages — The major type of pecuniary damages is future loss
of earnings. The courts calculate this amount using the multiplicand (a
sum to represent the claimant’s annual net lost earnings) and the
multiplier (a notional figure that represents a number of years for which
the claimant was likely to have worked). These are multiplied together in
order to calculate the future losses.
* Non-pecuniary damages — pain and suffering, loss of amenity, damages
for the injury itself.
e Discussion of other remedies where damages will not suffice.
e Mitigation of loss, contributory negligence.

© WJEC CBAC Ltd. 8





Band

Marks

AO3: Analyse and evaluate legal rules, principles, concepts
and issues

14-18

Excellent, detailed analysis of legal rules, principles,
concepts and issues relevant to the assessment of an award
of damages in the law of tort.

Excellent evaluation of the law surrounding the assessment
of an award of damages in the law of tort, including a valid
and substantiated judgement.

Excellent use of supporting case law and legal authorities.
Writing demonstrates accurate grammar, punctuation and
spelling.

9-13

Good analysis of legal rules, principles, concepts and issues
relevant to the assessment of an award of damages in the
law of tort.

Good evaluation of the law surrounding the assessment of
an award of damages in the law of tort, including a valid
judgement.

Good use of supporting case law and legal authorities.
Writing demonstrates reasonably accurate grammar,
punctuation and spelling.

4-8

Satisfactory analysis of legal rules, principles, concepts and
issues relevant to the assessment of an award of damages
in the law of tort.

Satisfactory evaluation of the law surrounding the
assessment of an award of damages in the law of tort,
including reference to a judgement.

Satisfactory use of supporting case law and legal authorities.
Writing demonstrates some errors in grammar, punctuation
and spelling.

1-4

Basic analysis of legal rules, principles, concepts and issues
relevant to the assessment of an award of damages in the
law of tort.

Basic evaluation of the purpose of the law surrounding the
assessment of an award of damages in the law of tort.
Basic use of supporting case law and legal authorities.
Writing demonstrates many errors in grammar, punctuation
and spelling.

Response not creditworthy or not attempted.
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Answer all questions.
Questions 1, 2 and 3 require you to demonstrate knowledge and understanding of legal rules and
principles.

Question 4 requires you to apply legal rules and principles to the given scenario in order to present
a legal argument using appropriate legal terminology.

Question 5 requires you to analyse and evaluate legal rules, principles, concepts and issues.

5. Analyse and evaluate how an award of damages is assessed in the law of tort. [18]

END OF PAPER
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7 marks. Risk factors could have been a bit more developed but excellent otherwise. 
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1. Explain what is meant by breach of duty of care in the tort of negligence. [8]
Indicative content

NOTE: The content is not prescriptive and candidates are not expected to mention all
the material mentioned below. Each answer will be assessed on its merits according
to the assessment grid and the indicative content. Examiners should seek to credit
any further admissible evidence offered by candidates.

In explaining how the law decides what is meant by a breach of duty of care,
candidates are expected to demonstrate knowledge and understanding of legal rules
and principles underlying a breach of duty of care. In demonstrating this knowledge
and understanding, candidates are required to focus on the specific nature of the
guestion set and not simply to give a general answer on all elements of negligence.

The response might consider issues such as:
e Breach of duty of care as second element of negligence.
e The objective standard of care and the reasonable person — Blyth v

Birmingham Waterworks.

e Special characteristics:

o Professionals (Bolam v Friern Barnet Hospital Management Committee
(1957), Montgomery v Lanarkshire Health Board (2015)

o Learners are judged at the standard of the competent, more experienced
person (Nettleship v Weston (1971)

o Children and young people - For this group the standard is that of a
reasonable person of the defendant's age at the time of the accident. (Mullin
v Richards (1998)

¢ Risk factors:

o Has the claimant any special characteristics which should be taken into
account? (Paris v Stepney Borough Council (1951)). Professional persons
(Bolam).

o Size of the risk. (Bolton v Stone (1951), Hayley v LEB (1965)).

o Have all appropriate precautions been taken? The cost and practicality of
preventing risk. (Latimer v AEC Ltd (1953)).

o Were the risks known about at the time of the accident? Roe v Minister of
Health (1954).

o Public benefit of taking the risk? (Day v High Performance Sports (2003),
Watt v Hertfordshire County Council (1954)).

o Credit for any other relevant citation.

Band | Marks AO1: Demonstrate knowledge and understanding of legal
rules and principles
e Excellent, detailed knowledge and understanding of legal
3 6-8 rules and principles relating to the principle of breach of duty
of care.
> 3.5 e Good knowledge and understanding of legal rules and
principles relating to the principle of breach of duty of care.
1 1-2 ¢ Basic knowledge and understanding of legal rules and
principles relating to the principle of breach of duty of care.
0 Response not creditworthy or not attempted.

© WJEC CBAC Ltd. 3


































Answer all questions.

Questions 1, 2 and 3 require you to demonstrate knowledge and understanding of legal rules and
principles.

Question 4 requires you to apply legal rules and principles to the given scenario in order to present
a legal argument using appropriate legal terminology.

Question 5 requires you to analyse and evaluate legal rules, principles, concepts and issues.

1. Explain what is meant by breach of duty of care in the tort of negligence. [8]
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2. Explain the law on occupiers’ liability to adults and children under the Occupiers Liability Act
1957. [8]

Indicative content

NOTE: The content is not prescriptive and candidates are not expected to mention all the
material mentioned below. Each answer will be assessed on its merits according to the
assessment grid and the indicative content. Examiners should seek to credit any further
admissible evidence offered by candidates.

In explaining the law on occupiers’ liability under the Occupiers Liability Act 1957,
candidates are expected to demonstrate knowledge and understanding of legal rules and
principles underlying the law on occupiers’ liability and demonstrate an awareness of the
difference between occupiers’ liability and negligence. In demonstrating this knowledge
and understanding, candidates are required to focus on the specific nature of the question
set and consider the 1957 Act specifically. Comparisons may be drawn with the 1984 Act.

The response might consider issues such as:

e The Occupiers' Liability Act 1957 provides that an occupier of premises owes a duty of
care to lawful visitors, and if that duty is breached and the visitor is injured he is entitled to
receive compensation.

o Definition of occupier - may be, but do not have to be, the owner or tenant of the
premises. There is in fact no statutory definition of ‘occupier’. The test for deciding
whether a person is the occupier is found in case law — Wheat v E Lacon and Co Ltd
(1966), Harris v Birkenhead Corporation (1976), Bailey v Armes (1999).

e Definition of ‘premises’ - There is no full statutory definition of premises except in s 1(3)(a)
of the 1957 Act where there is reference to a person having occupation or control of any
'fixed or moveable structure, including any vessel, vehicle and aircraft'

e Incudes houses, offices, buildings and land, premises has also been held to include: a
ship in dry dock, a vehicle, a lift, etc

e Adult lawful visitors include: invitees, licensees, contractual permission, statutory right of
entry. An adult lawful visitor is owed a ‘common duty of care’ (s.2(2) — Laverton v
Kiapasha Takeaway Supreme (2002), Dean and Chapter of Rochester Cathedral v
Debell (2016).

o Lawful visitors may become trespassers if they exceed their permission (1984 Act then
applies).

e Occupiers' liability to children - The occupier will owe children coming onto the premises
the common duty of care, but there is an additional special duty owed to child visitors.
‘Allurements’. Under s 2(3) of the Occupiers' Liability Act 1957 the occupier 'must be
prepared for children to be less careful than adults (and as a result) the premises must be
reasonably safe for a child of that age'. Glasgow Corporation v Taylor (1992), Phipps v
Rochester Corporation (1955).

e Defences to a claim by a lawful visitor - contributory negligence, consent (volenti).

e Exclusion clauses —s.2(1).

AO1: Demonstrate knowledge and understanding of legal rules

Band Marks L
and principles

e Excellent, detailed knowledge and understanding of legal rules
3 6-8 and principles relating to the law on occupiers’ liability to adults and
children under the Occupiers Liability Act 1957.

e Good knowledge and understanding of legal rules and principles
2 3-5 relating to the law on occupiers’ liability to adults and children
under the Occupiers Liability Act 1957.

e Basic knowledge and understanding of legal rules and principles

1 1-2 relating to the law on occupiers’ liability to adults and children
under the Occupiers Liability Act 1957.
0 Response not creditworthy or not attempted.
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Answer all questions.
Questions 1, 2 and 3 require you to demonstrate knowledge and understanding of legal rules and
principles.

Question 4 requires you to apply legal rules and principles to the given scenario in order to present
a legal argument using appropriate legal terminology.

Question 5 requires you to analyse and evaluate legal rules, principles, concepts and issues.

2. Explain the law on occupiers’ liability to adults and children under the Occupiers Liability Act
1957. [8]
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8 marks. This is a
concise and focused
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8 marks. This is a concise and focused response. 
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No case law to support sec victims. 3 marks. Controls not considered. 










3. Explain the law on psychiatric harm in relation to primary and secondary victims.  [8]
Indicative content

NOTE: The content is not prescriptive and candidates are not expected to mention all
the material mentioned below. Each answer will be assessed on its merits according
to the assessment grid and the indicative content. Examiners should seek to credit
any further admissible evidence offered by candidates.

In explaining the law on psychiatric harm in relation to primary and secondary victims,
candidates are expected to demonstrate knowledge and understanding of legal rules
and principles underlying the law on psychiatric harm in relation to primary and
secondary victims. In demonstrating this knowledge and understanding, candidates
are required to focus on the specific nature of the question set and not simply give a
general answer on negligence.

The response might consider issues such as:

e A primary victim is where the claimant is involved, immediately in time, as a
participant, e.g. a person who feared for their own safety, injured rescuers or an
involuntary participant. They would be present at scene and usually (but not
always) have suffered physical injury. It does not matter if the victim is more
susceptible to shock.

e A secondary victim is where the claimant has suffered some type of psychiatric
injury. To be classified as a secondary victim there must be a proximity in terms of
relationship with a primary victim and the secondary victim must have witnessed
the accident with his/her own unaided senses.

¢ Candidates may evaluate relevant case law such as Hambrook v Stokes Bros;
McCloughlin v O’Brien; Page v Smith; Alcock v Chief Constable of South
Yorkshire Police.

AO1: Demonstrate knowledge and understanding of legal

Band | Marks o
rules and principles

e Excellent, detailed knowledge and understanding of legal
3 6-8 rules and principles relating to the law on psychiatric harm
in relation to primary and secondary victims.

e Good knowledge and understanding of the legal rules and
2 3-5 principles relating to the law on psychiatric harm in relation to
primary and secondary victims.

e Basic knowledge and understanding of the legal rules and
1 1-2 principles relating to the law on psychiatric harm in relation to
primary and secondary victims.

0 Response not creditworthy or not attempted.
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Answer all questions.

Questions 1, 2 and 3 require you to demonstrate knowledge and understanding of legal rules and
principles.

Question 4 requires you to apply legal rules and principles to the given scenario in order to present
a legal argument using appropriate legal terminology.

Question 5 requires you to analyse and evaluate legal rules, principles, concepts and issues.

3. Explain the law on psychiatric harm in relation to primary and secondary victims. [8]
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Needed to apply risk factors here.



Needed to apply risk factors here. 
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15 marks.










Write the two digit question number inside

meboxesnextbtheﬁlstlheolyomansw Answer
id y cwestiwn yn y Atoh
Mm:anAﬂ nuntaf sirh atah

Q,:\‘ u, O‘eujm.ms i Vapiirw of &

{er Someones VoSS oOC \r\'Jur.q.

oL der +o Qekeim.ne  aasmas Sowm@ a4

ean mcxxltgu*’ ware ML T Magin ovea), C\\)ﬁ‘j o

N\

T
















NMMD““&GWM Answer
Yagrifervmech nf day Cwesten
Shyehay grlandyn & g;:uwm':' Ateb

.

—

-
-

B

| —
—
-
—
—
—
-
o

- —
—
—

-

l

MWISE Do (a\Gnin g«mmm Ohese (_Dj -
+ o

JWoas  Welein would  a1s6 e danmaned,

SCML Qquc. wal \ncSwr wanvhay 06 o hawving

AvIAYON savsy B astablished . W Yl
Smbhs\ud Heelf@ 15 o neect o Mouvd 00, "
TS € estoniishud vSiay  War v foc' s+ |
b U wee oy for W JOchons OF yee oldendan) |
\'\I\ \oss, OC ‘A\)\J( l«)Oulc\ nwos \-aﬂu(_, ocivetA, e

g&be e Reaas aeghatnr OCHAS pq e |
(0AQ | Mos.e Woud Nt \& )uﬂec\ of \aw |
dam&d Qossu&ov\s( fnasetore M N \(’,(3@' 15
Cﬂusc\

Smallg b Md.sb e Litahlished Wauiws L
Rebicea's™ Lhonme foo OGN Qagmage o F an b
Wese  reaSonabl! %(e\ch\ou,_ Some O\owwL e =

Mau wnes W Cowvesed & WQ,;LC\N— 100 oxl |

\-se e, Bidipg) ale.gun e 1) tn Paal b
Case ot W -

V%Q(‘.Cﬂt S dQ‘.f\\-\‘lg \iavie for v, €3 ju ) L
A0\ ik S 'dtn\ A Wovlt\ 4130 lea i

relable  Ghe dm’wﬁm Yo\l S\ww«% E
g5 W S ‘cocesua\,u ey Mo 5

TO (Concunlde 'ﬁQ\mcM 1S Vol vhdus b
u/u. \aw For Mwu VAU ey Oadd MOSY L
{39 foc Ma damm,c Cayseel 1O W |

S\ab
ﬁ/rtx PIL Wware. Han TSI OF Ogina yo Wi

AT Hacle.-

- —

3fes











Write the two digit question number inside

meboxesnextbtheﬁlstlheolyomansw Answer
id y cwestiwn yn y Atoh
Mm:anAﬂ nuntaf sirh atah

Q,:\‘ u, O‘eujm.ms i Vapiirw of &

{er Someones VoSS oOC \r\'Jur.q.

oL der +o Qekeim.ne  aasmas Sowm@ a4

ean mcxxltgu*’ ware ML T Magin ovea), C\\)ﬁ‘j o

N\

T
















NMMD““&GWM Answer
Yagrifervmech nf day Cwesten
Shyehay grlandyn & g;:uwm':' Ateb

WSE Do (eadGnin  foesteowe
AVIATON pavsy e astablished . (&

smbbsmd HeelfZ 15 no neect o Move 0N, "

TS & ost00lithed) ¥Sing  Wan
b U weee oy for W JOchons

-
-

al Cﬂusc\
S nap

I Mot Woud Nt

JMan nes we Cowesed &

- Lo e, Bidipg) QCL.M%
JCnse gt Aﬁﬁmmwﬁ—

= V OOQC& S dQ"f\\-\ 2 ‘O\\O‘Q,

- ,ro COV\ Q- &\}QCCQ ) | S

S\ab

ﬁ/(ﬂx PlL e re. ¥ TiSiC ok
qscmu Yqdcie was A MW Ao
AT Hacle.-

-

l

- -

4P \oss OF \"\)w Wouldh wor Waue occvetd, .
- g&ut CM' Biatwas Va \;&Lm OCtrensS 0 #a |
(OQ

dam&d Qossu&ov\s( (haserore  Maise 8 \(’,(3@! =
3 W Masc oo Litabhl

ARtbicea’s™ Lome foo Ol Qgmage oAk an L
JWese  reasonablg  fore Vacabe . SOML Olamages 5

40\ - S 'dtn\ MAAS g Wovlt\ 4130 lea L3

qrevane  Gie dm’wﬁm Yol S\ww«% E
Jas v S %oce, §2eap\ Maay  Morie I
Jwos e would  a156 e danages, |

..M/\L \aw ¥or MPx(() VARUCLES Oadd  MOSH L
A Qo for M dama(,c Cayseed 1O W |

3fes

(\f\t —
P ]
"o for' ¥s+ |
OfF ye oldeadan) |
)umc\ of \haw L
Shedd Wacywr L
are o oyl L

A 23 Ta Pl |

for Vo, ()\)uu 8

Vool VadleS 5

guina Yo Wil

Y OF Wow V\awlmm
Good application of all 3 ele enE. 16

marks.

LTI




Good application of all 3 elements. 16 marks.










4. Rebecca was driving along a busy street in Newport. As the traffic was moving quite
slowly, she was looking through her phone at her recent messages. She knocked the
phone out of her hands and reached across the car to try to find it. While she was
distracted, she failed to notice that Marie had stepped out onto a pedestrian crossing
and Rebecca’s car hit Marie, breaking her leg and running over the shopping she
had just bought. Marie required surgery and had to take five months off work
because of her injuries. Her doctors are concerned that she may need a further
operation in future and that she may suffer ongoing pain. Her shopping, which
included several expensive gifts, was badly damaged.

Advise Marie as to whether Rebecca is liable in the law of negligence for her
injuries. [18]

Indicative content

NOTE: The content is not prescriptive and candidates are not expected to mention all
the material mentioned below. Each answer will be assessed on its merits according
to the assessment grid and the indicative content. Examiners should seek to credit
any further admissible evidence offered by candidates.

In assessing the extent to which Rebecca is liable for Marie’s injuries, candidates are
expected to apply legal rules and principles to the scenario in order to present a legal
argument using appropriate legal terminology.

The response might consider issues such as:

e For Marie to succeed in an action in negligence against Rebecca, it must first be
established that Rebecca owed Marie a duty of care. The basis of whether or not
a duty of care is owed is determined on a three-part test as laid out in Caparo
Industries PLC v Dickman.

e Rebecca does not owe a duty to the whole world but only to those persons that
could be reasonably foreseen to be affected by her actions or omissions as
determined in Donoghue v Stevenson. It could reasonably be foreseen that
Rebecca’s distracted driving could lead to other persons being affected.

o Ifitis established that a degree of foreseeability exists, then the proximity of the
parties involved must be considered. Proximity is determined on the basis of the
relationship of the parties involved. There is a clear proximity of relationship
between Rebecca and other road users including pedestrians such as Marie.

e The courts will also consider whether it is reasonable to impose a duty of care on
Rebecca on the basis of fairness or policy. It is both fair and in the interests of
public policy to impose a duty of care on drivers and would not result in the
floodgates being opened.

e Marie has suffered damage as a result of Rebecca’s breach of duty of care.
Objective test but consider potential special characteristics of the defendant.
Application of relevant breach factors.

e Causation — ‘but for’ test.

e There was no evidence of novus actus interveniens that could negate Rebecca’s
liability for the bump and responsibility for the injuries suffered by Marie and
damage to shopping.

¢ Remoteness of damage — egg-shell skull rule.

e Credit for any other relevant citation.
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Band

Marks

AQO2: Apply legal rules and principles to given scenarios in
order to present a legal argument using appropriate legal
terminology

14-18

Excellent, detailed application of legal rules and principles to
the situation involving Marie and Rebecca.

Excellent presentation of a legal argument, using
appropriate legal terminology, case law and other legal
authorities relating to the elements of the tort of negligence.

9-13

Good application of legal rules and principles to the situation
involving Marie and Rebecca.

Good presentation of a legal argument, using appropriate
legal terminology, case law and other legal authorities
relating to the elements of the tort of negligence.

5-8

Satisfactory application of legal rules and principles to the
situation involving the Marie and Rebecca.

Satisfactory presentation of a legal argument, using some
appropriate legal terminology, case law and other legal
authorities relating to the elements of the tort of negligence.

1-4

Basic application of legal rules and principles to the situation
involving Marie and Rebecca.

Basic presentation of a legal argument, using minimal legal
terminology relating to the elements of the tort of negligence.

Response not creditworthy or not attempted.
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